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QUESTION 1

An administrator is working in an IT infrastructure where traditional routing methods are followed for routing network
traffic. What are the three challenges for an administrator in this infrastructure? (Choose three.) 

A. The use of East-West traffic is not secure within a data center. 

B. North-South routing methods limit data center scalability. 

C. The complexity of routing increases in a multi-tenant environment. 

D. A suboptimal traffic route is used to reach destination. 

E. Adding new servers to an isolated network became difficult. 

Correct Answer: ABE 

 

QUESTION 2

Which cloud environments are automated with the help of VMware NSX (Choose two)? 

A. Intranet Cloud 

B. Public Cloud 

C. Private Cloud 

D. Developer Cloud 

E. Multi-Tenant Infrastructure 

Correct Answer: DE 

 

QUESTION 3

What are the two advantages of deploying NSX Edge load balancer in a network"? (Choose two.) 

A. Provides improved application availability in case of server failures. 

B. Enables application or service requests that are distributed across multiple back-end servers. 

C. Enables migration of virtual machines from one data to the other. 

D. Reduces the usage of public IP addresses in the network. 

Correct Answer: BD 

 

QUESTION 4
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Which security service applies rules at the Virtual NIC (vNIC) level to define the traffic allowed to and from a security
group? 

A. Distributed firewall rules 

B. Network firewall rules. 

C. Network introspection services. 

D. Guest introspection services 

Correct Answer: A 

 

QUESTION 5

Which port in a vSphere Standard Switch is used to connect Virtual NIC (vNIC)? 

A. vNIC 

B. Physical 

C. Uplink 

D. VMKernel 

Correct Answer: C 
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